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But they are not people who can effect separation

OVERVIEW

Our mwn cites w"1 who maintains that 2°w1 *v°) that were presented and
signed by mX>7y are w>. The X3 asks, how can this be since "2V are not
mn13 "13; the rules of (3W17°P and) 7°w17°3 do not apply to them. NdOIN states
that the X913 could have asked a different question.
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The X712 could have asked; ‘but they are not people who can testify!’
mooIn does not answer this question.

SUMMARY
n"1ov are 9109 for M7y.

THINKING IT OVER
1. What is the advantage of asking 1713 NM7v °12 X2 X7; over the actual
question of the X3 that 1731 MN™3 *12 8% XM?°

2. Why did not moon [also] ask that the &7 should have asked, °12 K> &Y'
71 Mmow” and that it is not mawS?*

! At this point (in the question) we assume that *n13 72°nn *7; those who sign on the v validate the ua (it is
only in the answer where we assume that ¥"9 maintains N3 77°0n >7v). The 0"y are not valid m7v to
make the v effective.

* See 1"nX # 166.
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